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What path does food take through the digestive system?
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The liver secretes bi )e into the Smdf m*%{ﬁ@ , which breaks-dBwn '\FRJ‘J

What is mechanical digestion? | h
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Which body parts carry out mechanical digestion?
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What is chemical digestion?
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Which body parts carry out chemical digestion?
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The Respiratory System
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06. What path does air follow through the respiratory
tract?
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* Label the diagram of an alveolus below with the following labels: capillary, alveolus, deoxygenated blood,

oxygenated blood, red blood cell. Also, draw arrows representing the movement of oxygen and carbon dioxide
molecules. :
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Circulatory System:

Label the following in the diagram below: heart, artery, vein, capillary bed, pulmonary circulation, systemic circulation,
lungs. Also, draw arrows showing blood circulation through the heart and body, and indicate where all other organ
\‘/stems would be found in the diagram.
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Label the following in the diagram below: red blood cell, white blood cell, platelet, plasma. Color each as they would

appear on a stained microscope slide. P[a{'elé"
white bood il A

Red blood cgﬂ
Fooma

If a person has a A- blood type, what blood types can they accept transfusions from?
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Immunity:

Which of the following blood samples is probably fighting off an infection? Explain your reasoning.

Sample A Sample B

SWP o b becasar. Fhore ae o Uot more C
Whie Yood cells



Excretory System:

what are three ways in which the body gets rid of waste products?
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Name the parts in the diagram to the left and give the

' [,\\ ' function for each.
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The Nervous System:

The diagram to the left represents a __ 11 LT

Name the parts and give their functions:
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Use the diagram to the right to explain how reflexes work.
Be sure to draw arrows on the diagram indicating the
direction of the nerve impluses.
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Label theiarts of the brain. Briefly describe the functions of each part.
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The Senses:

Name the parts of the eye and give their functions:

. (orpeg s exter ‘windo o
Fron *L eye /wn extensun of. Sclem\

Are images that form on the retipa right side up or upside down? Explain.
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1. Label the parts of each wave.

2. Give each type of wave a title.

3. Which type of wave
corresponds to the
transmission of licht
dReoseeRe. . and
which corrééponds to the

tr nsmvssuon(;l ognd?
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Name the parts of the ear in the diagram to the left and
give the function of each.
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Identify the nasal cavity and the olfactory bulb in the
image to the left and describe how they function in
olfaction.
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The Musculoskeletal System:

What is the role of the musculoskeletal system?

~

Name each of the main parts of the skeleton to the left
and give the function of each.
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What are antagonistic pairs of muscles, and how do they work?
Ex: biceps and riceps.  Whon one @xpondp, the other contlocts
1 v { £ 7
which moves bones.

The Reproductive System

Examine the diagram to the right. Which method Method 1 Method 2
represents mitosis and which is meiosis. Explain your

e Wethod L
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Nutrition:

Nutrition Facts Nutrition Facts Nutrition Facts

“Oranges Raw Navels (} 44 C&Q,

Sening Size 18’%9

iApples Raw With Skin (), ’)2 ("06 Bananas Raw 0 ,8? [Jﬁ

Servmg Size 109g Senving Size 150y

Calories 81 ;Calones 57 Calories 134

% Daily value'| ||| % Daily Value' % Daily Value”

Total Fat0.259 (O (/S 0% ;Total Fat0.19g () 0% ||| Total Fat 0.5g UU ; S %] |
Saturated Fat 0.028g 0%]| ||l Saturated Fat 0.031g 0% Saturated Fat 0.168g 1%
Cholesterol Omg 0%| ‘Cholesterol Omg 0% ||| Chelesterol Omg 0%
Sedium 2mg 0%} ||| Sodium 1mg 0% ||| Sodium 2mg 0%

Total Carbohydrate 20.7g 6.[ 73 7%| ||| Total Carbohydrate 15.1g (.4 5%||| Total Carbohydrate 34.39 8,2 1%
Dietary Fiber 3.69 0.07Z ~ 14%||| Dietary Fiber 269 ¢.025\ 10% Dietary Fiber3.9g €. 16%
Sugar 14y ~ Sugar11.3g . ~ Sugar 18.3g -
Protein 1.5y ~| ||| Protein 0.3g ~[||| Protein 1.6g ~

'\/_itamin A B% eVitamin C  163% ||| Vitamin A" 1% »Vitamin C 8% Vitamih A 2%  Vitamin C  22%

Calcium 7% ¢ lron 1% Calcium 1% « Iron 1% Calcium 1% ¢ lIron 2%
"Percent Daily Values are based on a |||/ Percent Daily Values are based on a "Percent Daily Values are based on a
2,000 calorie diet. Your daily values 2,000 calorie diet. Your daily values 2,000 calarie diet. Your daily values.
may be higher or lower depending on may be higher or lower depending on may be higher or lower depending on
your calorie needs. | ||your calorie needs. your calotie needs,

~—f you were watching how many calories you were eating, which of the fruits above would you select (Justify with

aleulations)? 8 | (’ci

Doy =y 5 = 01 o per g ( /éwa;v‘amcw‘c[ tolbties pet Wg»}
T i
Which of the above fruits would you select if you wanted the least amount of fat (Justify with calculations)?

Ot - 0-25¢g fat-  _ O(OC)/S"jcoﬁﬁdL/ﬂ % /SII?AM
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Which of the above fruits has the least amount of carbohydrates (Justify with calcu/at/ons}?

Oroyyy - 20T Corhy =0k /3 kg o€ carby gpar/a
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Which of tZabove fn@'ts has the least amount of fibre (Justify with calculations)?

AT P »——[% = 0.076

If you wanted to maximize your intake of vitamin A, C, and calcium, which fruit would you select (Justify with
calculations)?

Oftuntp

'hich of the fruits above has the most sugar (Justify with calculations)?
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Which fruit has the least sodium (Justify with calculations)?
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The Material World:

Assume the above particles represent a gas. Is
this a compressible or incompressible fluid?

The particle model to the left is an example of a
reaction. This means that:

abms hawe formed & more Comp‘é)o
Mobocude

Examples pf this reaction in the human body include:

AL

The particle model to the left is an example of a

reaction. This means that:
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Examp’es of s reaction in the human body include:

Cdl?uﬂar f@pof&"ror\ [)feaémq af(w
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Assume that the particles in the model to the left represent gas
molecules. Which of the containers would be under greater
pressure? Explain.
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Someone is trying to sell you a chunk of what appears to be gold. Being knowledgeable about minerals, you know that

sometimes people mistake pyrite (fool’s gold) for gold. Gold has a density of 19.3 g/ml while pyrite has a density of 5.01

g/ml. You conduct a test and determine that the object you have been shown has a mass of 9.65 kg and displaces 0.5 L.
/~fwater. Is the material actually gold?

: = 965 650f
965 kg \502 0. D=0- o = 19.5%,
VEDSR= 9 L0m], "jO/‘/‘/

You are given 25 g of salt and some water, and are told to make a solution.

e What would your solvent be? (,UCLQ}Q{

e  What would your solute be? S&g&'

® How much solvent would you need to make a solution with a concentration of 10 g/L?

C:m_ sl 10%20?53 V= 253’</,$2,5L
V4 ”/ v 109,

( ) This process is called: d’f 536/[,{'501")

e Once you have your solution of 10 g/L, you realize that you made a mistake, and actually needed a solution that
was 2 g/L. How much water would you have to add?

GV =C2\, V. =13.5L
(10¥Y 251 = (&s/L\( Vo

-
= Vs ~1,= 0L ]

musFhe odokd
This process is called: 01‘ (Q+I\CW\

Which parts of the human body are specially designed to pick up waves? What type of waves can they pick up?

Car %m"cks uf) sound wereg ((%fgx“fucpma/ mec/iamza@
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When considering electromagnetic waves in the visible spectrum, explain:

o Reflection: Lfﬁlfr' b(f‘(bﬂ(ifl'l(ﬂ ”M _/jé;f(’ff
S BT

e Refraction:

an T enters a now— medun

e When light passes through the lens of the eye and bends, this is an example of: (‘e ‘QEKC 'hv'r\

s QQ\QC'HC n

e When looking at an object, you can see it because light is:

Label the following diagram: Incident ray, reflected ray, angle of incidence, angle of reflection, normal

=
=
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The Hulk and Superman were trying to figure out who was the strongest hero. They decided to have a tug of war contest
with a twine rope.

1. What type of mechanical constraint is being applied to the rope? &V?Slm

2. After 30 seconds, the rope snapped into two. What type of deformation occurred? 'C(UC,{U““Q

3. The super heroes decided to call Harry Potter to fix the rope. Harry used the Repario spell to fix the rope. However,
Harry improved the rope, turning it into carbon fibre. The Hulk and Superman continued their contest, but the rope
didn’t break or change shape. What mechanical property did Harry add to the new and improved

rope?_ 1 0Sil7encé_
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‘Describe the 4 characteristics of the following links.
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19 - screw C R
connecting baseplate R N T
—

to boot
18 - shoelace

holding sides of boot P F
together

16 —rivet holding
brakeplate to boot. C P\

P

7‘Q
A

Last year in science you placed elodea plants under lights and collected the oxygen gas that the plants produced under

(“ lifferent conditions. One of the questions you answered was “How does the rate of photosynthesis change with the
mount of carbon dioxide gas present?”

The data collected using gas collection equipment looks like this.

Amount of CO, present Amount of O, collected .
. : Variable
(in ppm) (in mL/H)
B 0 0.0 Control
& 50 5.4 Control
il 100 11.2 Experimental
150 17.2 Experimental
200 23.4 Experimental
250 26.1 Experimental
300 26.1 Experimental
Which test situation represent the negative control __ﬂ_ and positive control @) ? Why

should an experiment test these controls as well as the experimental situations?
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